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PART - 111
sesflell oiefwed / COMPUTER SCIENCE

(50 wHmd <yhidla aufl / Tamil & English Version )

[ Qs wHuGuearsdr : 70
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ST «jeray : 3.00 wafl GHb |

Time Allowed : 3.00 Hours ]

Simaibg) efamasEnh sflurs ufleurd edeTsT STEUSENET silunisss
Qarararayth. @issliLBeld GamudmUudarn Sieps samsranfiiuremflib
o L angurad Cgflallsseb.

@ feon adey sGUY @l LLGGL  awaHusHELD.
<SipCargGaspEhd vwau®ss Caan@ib. UL R&GET uanTeusnG
Quénfler LTRSS L.

Sifleyenrast : (1)

Instructions : (1) Check the question paper for fairness of printing. I there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@d - 1/ PART -1

@Ol : () Slemensgl eflamssEhEELD e wiefl&Esab. 15x1=15
(i) Gsr@ésuul(drer pren@ wrpn eeoLsald Baab ghyaw
dlenl_ewws GCsipAsBsns GHUL@Lea dlamamanyb Csisg
GT(PBALD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriale answer from the given four alternatives and write

the option code and the corresponding answer.
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1. e Qublapemulen 18s Gorswnen Hlencanius @hlhas Demeauimin erg) uwerumFng ?

(<=1) Big W (<) Bigg A (@) BigO (rr) Bigs
Which of the following, is used to describe the worst case of an algorithm ?
(a) BigW (b) Big A (c) BigO (d) BigS

2. s meuaioliy] MWILLTS STa| euams ereuaum DienpssluBdng ?

(=) Concrete datatype (<21,) Built-in datatype
(&) Abstract datatype (rr) Derived datatype
The datatype whose representation is unknown are called as :
(a) Concrete datatype (b)  Built-in datatype
(c) Abstract datatype (d) Derived datatype

3. enuggren eudlflul e Qués s efamsamu <i(pss CeuamHn ?

(=) F1 (<z4,) F5 (@) F3 (FF) F2 -
Which key is pressed to execute Python Script ?
(a) F1 (b) F5 () F3 (d)y F2

4. dareumd argl g Gurmear deaww Ceuamgweang Srorafl&dng ?

(=1) BepL_psid (<) QWds el
(@) Blréd Quwiring () Qsr@liuren
Which of the following defines what an object can do ?

(a) Interface (b) Operating System
(c) Interpreter (d) Compiler

5. saflafl @pedled 2 arer euaThiSansT wrm urfeneuubli WOHMID LLETURSS Wl ujb
sTaUenS cUETPEDLUILIRSSID @ urglsriy Aampld mlub
(<31) Si@msd SCHLILTEH (<21) sL6ysF Game
(@) srandlsip () eimdsrrb
Which of the following security technique that regulates who can view or use resources in a
computing environment ?
(a)  Access control (b) Password

(c) Certification (d) Authentication
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Wanaimmaraaupmier o g aggfanan miam mhh (elerwimesif)

(==1) <> (<) 1] @ O () 1]
Which of the following is the Slicing Operator ?
(@) <= ) © O (d 1]

enggrafld Quﬁ@(«‘é)eﬁ D_(HEUITd @D @ULL]G'DQ;)gmg) o GTET é]m@muu\@eﬂm@],

() wHLEmssDH (<) <2168

(@) sremimeuTsHD (/) <@g

In Python the process of creating an object is called as
(a) Initialize (b) Constructor
(c) Instantiation (d) Destructor

Qer@s&stul L aheann Ceupdlasrors Blussashe, Gareimelateupmer sfluimar
qenams CarbEsbHsseyLb.

if : print(x, "is a leap year")

(=) x/4=0 (<=,) x%2=0 (@) x%4=0 (rF) x%4==
Pick the correct one to execute the given statement successfully.

if : print{x, "is a leap year")

(a) =x/4=0 (b) x%2=0 (¢) x%4=0 (d) x%4==0

SELECT gapmi&E Lwaru(ph femend ergl ?

(1) X (<)o (@ « (F) T
What symbol is used for SELECT statement ?
@ X k) @« (¢ & @ I

If List = [10, 20, 30, 40, 50] eraflé
List [2] = 35 - efleni_ :

(<=1) [10, 20, 35, 40, 50] (<=4,) [35, 10, 20, 30, 40, 50]
(&) [10, 35, 30, 40, 50] (rr) [10, 20, 30, 40, 50, 35]
If List = [10, 20, 30, 40, 50] then List [2] = 35 will result :

(a) [10, 20, 35, 40, 50] (b) [35, 10, 20, 30, 40, 50]
() [10, 35, 30, 40, 50] (d) [10, 20, 30, 40, 50, 35]
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11.

14.

15.

CSV Gl eng) areaib cotenpAhmUi(flmm

{2 String, File (w21} Flat File (B) Random File  (rr) 3D File
ACSV file is also known as a .

{a)  String File (1) Flat File (c)  Random File (d) 3D File

SQL -d Waayb Clumgiennas LnoeGs D iy
(=) exccute (<,) cursor (&) commit () select
The most commonly used statement in SQL is ;

(a)  execute (b)  cursor (c) commit (dy select

Wenaumid eougsnen @Gdlapenpulien QeualluS® eremem ?
for x in range (3):
if x==2:
continue

print(x, end="")
(<) 0134 (=)012 (@) 01234 (rF) 0123
What is the output of the following snippet in Python ?
for x in range (5):

if x==2:

continue

print(x, end="")

(a) 0134 (b) 012 {c) 01234 (d) 0123

SM@FE QUETRISMETLD @amul L ghan sl d Hore sramlss
vwen B S ng.

(=1) Qumrberser (<=4) @enLpsid

(&) euenysmenay (FF) Greig Gumil

: is a collection of resources assembled to create a single unified visual display.
(a) Objects (b)  Interface

(¢)  Graphics (d) Dashboard

e sressagdla 2 drer greves suflepswrdsd Qeiw LwETUEWL clause :
(==4) GROUP BY (<2,) SORT BY (&) SELECT () ORDER BY
The clause used to sorl data in a database :

(a) GROUP BY (b) SORT BY (¢) SELECT (d) ORDER BY
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LSl - 1/ PART - 1T
@Oly ;. stemenGuignid @ypmy eladsEwie alen_wealdsapb. alam aram 24 -&E
Sllmuwns el walldsalb 6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.
16.

17

18.

19.

20.

21

22,

23.

24.

S0 Y(HEUDTHESED GUENS GTENMITG) Greurar ?

What is abstract dala type ?

eugsraflds e erer LG Qewnwmhledr wremea ?

What are the different operators that can be used in Python 7

Gl e ETanmied GTara ? SFET CUNSHHENET GTRSHIS.

What is searching 7 Write its types.

Qewpsnilen LoCeum cumEsmeT aT(paIS.

Write the different types of function.

Matplotlib -éb 2 drer sr_flLL@Essisa suamssanaTll L igwed(Ha.

List the types of visualizations in Matplotlib.

LigBleney HmIb euanawenoliy grey wrdlflsmn e Cur = arar Caumur(® erenar ?

What is the difference between Hierarchical and Network data model ?

CSV GamrliL] eTemmmey eTeimen ?
What is CSV file ?

sTeyssaT S Leusnenullall(hbs) imarss Ldosanemud Qumsushare auflipenm
TGy ?

Which method is used to fetch all rows from the database table ?

anuggren pop() Geupamdlan LLenar er0FE.

Write the use of pop( ) function in Python.
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L@ - 111 / PART - 111
@Y gCx e om elamds EnsE o waldseh. oo eanm 33 -6
sLLmuwns e welléseaib. 6x3=18
Note : Answer any six questions. Question No. 33 is compulsory.
25, pure wHMID impure Qawpamphep CamuBsgs.

Differentiate pure and impure function.

26, list -ab 2 @itar 2 (HULS@ST SigniEh UdGaun auflpepadr wraa ? sTHESIS610
SOHS.

What are the different ways to access the elements of a list ? Give example.

27.  Asymptotic Gili® — GOl cuenys.

Write a note on Asymptotic notation.

28.  if.else.elif sapenpls LweTuBHSH Aarpéstul L aparm aransaild Quilu eramanantés
sarEylughsrer Qurmésorer Frame sTpss.
Using if..else..elif statement write a suitable program to display largest of 3 numbers.

29.  dAéreumeusneuhenn Lbll s@Hs qhssIsETC B Sy GHllyY euers.
(<=4) capitalize( ) (<2,) swapcase( )
Write a short note for the followings with suitable example.

(a) capitalize( ) (b) swapcase( )

30.  @uggraild opsd whmb SEibisemer areiurm auenmumILmi ?

How will you define Constructor and Destructor in Python ?

31.  Scripting Gwmfuien Lwerur@ear wrenay ?

What are the applications of scripting language ?

32, Where gienan Blanudanpdlen Lwen erear ? Where sapeppll LieryL 5 am
DUESTE FaDenD ET(LHHaLD.
What is the use of Where clause ? Give a Python statement by using Where clause.

33. SQL - 2.éer TCL s L_ensnaaner Ll fmy @Hlly cuenrs.
Write short notes on TCL Commands in SQL.
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Ldl - IV/PART - IV
GO : Sienemge) allanrdsignd @in alani_wieilha o).

Note : Answer all the questions,

N = L] . . . - . 4 o . . -,
3. (=) gra) Smannndmbd aaemm Gowndnfgsmmi? ahEsEsm 0L allarsss.

3|60 g
(<=21) @Qing CaLed eranpmd eraan ? ([ s G e elilarmd: (5.
(@) How will you facilitate data abstraction ? Explain it with suitable example.
OR

(b)  What is Binary Search ? Explain it with example.

(9]
a1

(=) inpul() whHmb prink ) Qewbampsmear rHEHGSTE L6 eflené@s.
260605

(<) wrdulen cuenr@udanasaer rHdbassT HLdnm allaéEs.

(a) Explain input( ) and print( ) functions with examples.
OR

(b) Explain the scope of variables with an example.

36. (<) range() -en CBTESHID erenan ? er(HEHE STLHL 6 cflams@s.

S{e0eg)
(<z,) Geneumb 2 payblens Guibaaills Qawmn@dlamer aRHEHSHTHLer eNeard@s.
iy gLz (i) Gahgd
(iiiy Gy (iv) srmedwe Qumose

(a) What is the purpose of range( ) funclion ? Explain with an example.

OR
(b)  Explain the following operators in Relational algebra with suitable examples.
(i) UNION (i) INTERSECTION
(1) DIFFERENCE (iv) CARTESIAN PRODUCT
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(<=4) SQL -én samisér wnemal ? GeiQaimeanfli@b Gl amensene 6ripsm
SI60608)

(e=p,) C++ il Cueran eouBGTaileN LIGHILISE FomISanar 6r(ps)sH.

(@) What are the components of SQL 7 Write the commands for cach.
OR

(b)  Discuss the features of Python over C++,

(=) euggrafle @m Gomlemu uglugparear LG ablWPHDSMET eT(PIIS.
S|60608)

(<) Matplotlib flenguiléy sranmiiu@Bin LaGeany Qurggrersamar allard@s.

(a)  Write the different methods to read a file in Python.
OR

(b)  Explain the various buttons in a matplotlib window.
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